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0 Off A& oH 116,344,252,9932 (M E < 0|22 11,544,855,993 2 L&) 0/l CH 30
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gHS 17,025,890,732& 0/ 1
Asde 7,499,676,0302 0| O
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WEDE 36,260,810 0| B
01 molmee 3,580,047.9662 02 A XISTHAE H52E0) Mat IEHS LB ASS E
(23 0%, 0l 02)2 2HE SHE A0S 3.580,047,9662 2 5 W2 (S 0
212t 0/ BT
0 ST 0B Sof=
24 A1 0] 02 (X2 8= YOI 2)
AFD OIS 08 (X2 = Dol 2)
 EE 08 (U2 8= Ao 2)
BEZ HUT 0R10] TEEO UASH 012 BHE MHASS 3,580,047,9662 0|
TolYSLESHE JIYHSS LA 2 EE ZNS ofD YO (FH), 3 BILSHANS B2 XS BAGY OS1D
(&2l &)
5 . IR NoB 0 2
3 A o ofl &4 54 N s N e n s =32 .
! 2 A A2 A P P ELE
Al 99,355,724,993 103,702,827,679 69,697,786,810 34,005, 040,869 18,862, 116,220 2,804,902,010 12,338, 022,639
A T A 5 E 3 A 28,287,353,170 30,955,601,379 23,489,783,250 7,465,818,129 1,264,484, 440 277,075,270 5,924,258,419
o = & A & § 8 3 H 47,099,656, 220 47,650,703,313 32,835,876,630 14,814,826 ,683 11,407,240, 340 1,123,802, 540 2,283,783,803
2 LA E ZE 3 A 23,968,715,603 25,096,522,987 13,372,126,930 11,724,396,057 6,190,391,440 1,404,024, 200 4,129,980,417
AP Y AS SEIAH MYAME ZOYHS BRY 20




